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Case-marking a¥) <l e

In Classical Arabic, nouns (as well as the adjectives that modify them) inflect for
case-marking, depending on their function in the sentence (e.g., are they subjects,
objects of verbs, objects of prepositions, the final noun in an idaafa construction,
adverbial, etc.?). There are three case markers in Arabic:

292l — qgaiall — £ g yall
For each case, the inflection depends on whether the noun (and the modifying
adjectives) are definite or indefinite, and whether they are singular, dual, or sound
plural.
You can figure out the <! =) of a particular noun by following the following sequence
of questions. Let’s call this <Y algorithm.
First question to ask is: Is the noun singular, dual, or plural?
If singular, then we need to ask if it is definite or indefinite.

If definite, then it has the following <|_=! markers:

- 129l - [ geaial) - £ 58l

29l | caalal | g g8 al)
daslh | dalh | sl

QUKD | LS | s

If indefinite, then it has the following <! =) markers:

- : 29l - [ gealall z :£.98 5l

29l | Gaaladl | g g sall
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If the noun is dual, then it takes the following <=} markers, for both definite and

indefinite nouns:

If the noun is plural, then we need to ask if it is a broken plural or a sound plural.

If it is a broken plural, then it acts like singular nouns for the purposes of <l <)

depending on whether it is definite or indefinite:

If the noun is a sound plural, then we ask if it is masculine sound plural or feminine

sound plural.

sl | qaaldl | g g8 sl
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O 1090l 5 o gualal) - .58 5l
234l g qgaiall | g g8 sl

If masculine sound plural, then it takes the following <!} markers:

O 1090l 5 o gualal) O .58 5l
29l g galall | g sh sl
Oaluaa () O salusa(d))




If the noun is a feminine sound plural, then its <_=) depends on whether it is

definite or indefinite.

If definite, it has the following <! =) markers

- 1090l 5 o gualal) - .58 5l
23l g pgaiall | g gh sl
ilalisall Ealalisall
If indefinite, it has the following </_e) markers:
- 1 29al) 5 pualal) Z .58 4l
23l g gaiall | £ g8 sl

In what contexts do we use each </_s!?
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e This is used also in two main contexts:
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e This is used also in two main contexts:
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ouedll a g el 500 G il

Notes:

e Don’t forget that adjectives take the same <« _e) as the nouns they modify.

e Notice that the 3_~S of L2l induces vowel shift of an attached possessive pronoun:

29l | qpalal | g sl

e Notice, finally, that the first person possessive pronoun does not allow the case

marking to appear, such that words like S and » are the same whether they are in

g 84l or w2 saiall or Jsaall, Let’s call this here a “suppressed case.”
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